(Craig, Fig. 9.2)
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(Craig, Fig. 9.6)
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mX + bx+ kx = f



Smple PD Control Law

System X

f= —kpx—kX

(Craig, Fig. 9.7)



Effective system dynamics
mX + bx + kx = f
f = —kx—kyx
mX + bx + kx = —kpx—kVX
mX+ (b+k,)x+ (k+ kp)x =0
mX+hb'x+k'x =0
k= (k+kp)
b = (b+k,)



Control Law Partitioning
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| (Craig, Fig. 9.8)
mX+bx+kx = f = af' +f3 X = f'
a=m

B = bx+kx T ek



Control Law Partitioning (trajectory following)

System x

bx + kx T.

(Craig, Fig. 9.9)

mXx+bx+kx = f = af' +3 X = f'
a=m
B = bx+kx

£ = %y + ky(kg = %) + Ko (Xg =)



